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Problem quickname: 1213

b

Write as a fraction with a fraction bar. Reduce the fraction to lowest terms.

_ 86 _ 43 _ 53 _ 53 _ 62 _ 31
a) 8.6 =15 =3 b) 5.3 =15 = 1 ¢)62=15="5
_ 38 _ 19 _ 82 _ 41 _ 41 _ 4
d)3.8=15="7 ) 82=15="7% Hidl=13=10
21 _ 21 64 _ 32 79 _ 79
g)2l=1=1 h)6.4=15="7 i) 7.9=15= 10

Write as a fraction with a fraction bar. Reduce the fraction to lowest terms.

a) 4.76 = 700 = 42 =43 b) 7.81 = {34 = 8L = 75
@&m:@%:%@ 832 d)4.95 =135 = 98 =439

e) 4.63 = 155 = 160 = 410 f) 6.51 = {55 = 65 = 6100
g) 2.27 = 33T = 23T — 92T h) 6.38 = $38 = 310 — 629
D1s=fE-B-18  pes-B--o

3)

Write as a fraction with a fraction bar.

a) 0.452 = {22 b) 0.506 = £ ¢) 0.477 = {5
d) 0.437 = {25 ¢) 0.382 = 52 f) 0.500 = %%
g) 0.598 = 7 h) 0.622 = {22 ) 0.744 = {Hb

. 245

)

Write as a fraction with a fraction bar. Reduce the fraction to lowest terms.

a) 0.4904 = 140900040 - % b) 0.2949 = 120904090 - 120904090
_ 6942 _ 3471 _ 5737 __ 5737
¢) 0.6942 = 15555 = 5000 d) 0.5737 = 15600 = 10000
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Solutions to smp-1213-3/MTMZ

_ 4035 __ 807 _ 4754 _ 2377
e) 0.4035 = 10000 = 2000 f) 0.4754 = 10000 = 5000

4764 1191 5684 1421
g) 0.4764 = 15006 = 2500 h) 0.5684 = 15000 = 2500
- _ 9083 __ 9083 - 4530 _ 453
i) 0.9083 = 155066 = 10000 j) 0.4530 = 156500 = 1000

Good Luck!
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